Palazzino in Senglea



Reference No: 240151013-172

Senglea, South



€1,200,000

Total Rooms: 5

Bathrooms: 1

Floor Area (m²): 128

Bedrooms: 2

Palazzino - For Sale - Senglea

SENGLEA - This historical Palazzino in the heart of this tranquil city is regretfully for sale. This spectacular one of a kind property enjoys many Palazzino characteristics, such as a large Piano noble, high ceiling-ed arched welcoming hall, internal courtyard which is overlooked by most of the property. Property also enjoys immaculate views of the Birgu Marina and the Grand Harbour. For further information about this lovely property or a viewing, kindly contact one of our sales associates.

Features

Entrance Hall

Court Yard

Roof Terrace

Yard

Air Space

Rooms

Kitchen/Living/Dining: 7.3 x 4.3 m (31.39 m2)

Bathroom: 2.2 x 2.4 m (5.28 m2)

Laundry: 3.3 x 3.6 m (11.88 m2)

Single Bedroom: 3.3 x 3.6 m (11.88 m2)

Single Bedroom : 4.5 x 4.2 m (18.9 m2)

Gallery





















Tony Busuttil RE/MAX Edge - Attard

M: 79570054

E: tony@remax.com.mt

T: 21480164

RE/MAX Edge - Attard 4Triq Antonio Schembri, Attard, Malta